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Q.1 .A clock rings once at 1:00, twice at 2:00, thrice at 3:00,
that is, the clock strikes the same number of times as the
time is, how many times will the clock ring in 24 hours?

T F21 T 1< 1:00 =7, &7 972 2:00 &, i 977 3: :00 ST ST
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(A) 48

(B) 150
(C) 156
(D

) 200
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Q.2 In between 11 and 1 o'clock, how many times both the
hands will coincide with each other?

11T 1 a9 & S Qldlﬁliqlfaﬁl?ﬁdlil\*gﬂiﬁ .':‘: T
(A) one
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(C) three
(D)
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Q 3.My clock is 3 minutes behind on monday at 2:00 p and 5
minutes ahead on wednesday at 2:00 pm when would it have
shown the exact time?

ﬁ‘ﬁ‘ﬂ@?ﬂmqu agY 2:00 ®|31 ea 3fﬁﬂ€tﬁ%{§ﬁ'€gaql< <:|w§<

2:00 =T =1 5 THHE AT & 39 31 q97 el [e@@AT 87
(A) TUESDAY AT 6:00 AM
(B) TUESDAY AT 8:00 AM
(C) WEDNESDAY AT 4:00 AM
(D) WEDNESDAY AT 8:00 AM
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Q.4 Itis 1:30 in a clock, if the minute hand is to the south, then in
which direction will the hour hand be?

TF et 4 1:30 a7 T ¢ Al e fr E efarw fr e g ar s fr 92
FoheT oo # g2

(A) NORT] o~
B) SOUTH EAST ( 20) \>

(B)
(C) NOTH WEST
(D)

D) NORTH EAST
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Q.5 A tortoise walks 1 Kilometer in 4 hours, rests for 20 minutes

after each kilometer, find how long it will take to cover a distance
of 3.5 Kilometers?

U egall 4 ° § T Thel[H e FdT g, El—a‘oﬁﬁw_vﬁTﬁE‘(Qh a1z 20
e STH AT g, 3.5 fheiste & g3t aF e fr( \)lw-m

IT?
(A) 14 HOL

(B) 13 HOL
(C) 15 HOL
(D) 12 HOL
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Q.6.There are only 3, 6, 9 and 12 marks on a clock, if the time is
5:40 in the clock, then keep in front of the clock what time will be
seen in the mirror?

T 2T 9 hao 3, 6, 9 3fT 12 o o= {fha & Il o=t | 5:40 #7
T g1 AT TS1 6 J19 TG U0 § 47 7T (eQ11?

(A) 8:20 4 X
(B) 6:20 C,:\'_—'u \>
(C) 6:25 S
(D) 7:25
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Q.7 A clock advances 12 seconds in every 3 hours, if it was set
right on sunday at 3:00 pm, what time would it be on tuesday at
10:00 am?

T Tt T 3 °e | 12 ohe AN 92 ATl 5 Tla 3G 72717
AT 3:00 aST &l ¥ T AT ThAT AT T qu( 50§
TS AT THYT FqAT307? *

(A) 10 HOUR 2 MIN 50 SEC

(B) 10HOUR 3MIN 2 SEC

(C) 10 HOUR 2MIN 54 SEC

(D) 10 HOUR 2 MIN 52 SEC
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Q.8 If the time in the clock is 6:20 and the minute hand pomts
to the north east, in which direction will the hour hand point?

aﬁ‘ﬂﬁfﬁW&ZO‘@HWfﬁ?ﬁ:ﬁ@é 3L A =l AT ST HLAl
g1 Tl =< sl s Tohe Q9T &l AT AT HeIT?

(A) WEST (/ .g-.\
(B) SOUTH EAST \_ﬁ
(C) EAST

(D) NORTH WEST
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Q.9 How many times a day do the hands of a clock cover each
other?

o | Tohael T ISt hl 2T Uk THL I T ol 572
(A) 23 ( N
B) 21 ¢

( ) (N B
(C) 24
(D) 22
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Q.10 If the clock is showing evening time at 8:30, then what will
be the angle between the hour hand and the mlnute hand?

i< Tt | 9O FT 997 8:30 ot fa@rs < Wl g, d uda?rﬂ‘éﬁ‘{ﬁ‘rl‘d
il {2 o 1= T 0T FAT g7 7 RN
(A) 90 DEGREE ( /
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|
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B) 75 DEGREE N

(
(C) 60 DEGREE
(D) 85 DEGREE
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Q.11 The last bus from meerut to delhi leaves at 10:00 p if the
buses are on leaves at the same interval of every 3 hours and

there are 6 buses in total then when will the third bus leave for
delhi?

s | faoatl Ehf%ﬂiaﬁ'qa?:r 10:00 a1 fAhatd %’Zﬂ%dﬂ EL3HTF
FHTA T T AT %’SﬁTW6aﬁ%’ﬁFﬁ'ﬂ'ﬁa‘H g )ﬁm?ﬁr
TATAT 22 ""

(A) 1 A.M.

(B) 7 P.M.

(C) 1 P.M.

(D) 7 A.M.
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Q.12 The clock seen in the mirror shows the time at 3: 15what IS
the correct time In the Clock’?

U7 H <@ T2 TSt 3:15 o9 &7 67 ﬁ?@l‘l‘cﬁ%"ﬂ?ﬁfm@wq FT

go 7770

(A) 3.15 ( '—"—‘)
(B) 8.45 N2
(C) 9.15

(D) 9.45



